Maths

Order of operations
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Order of operations

1. Eva works out 3 + 6 X 2 and says the
answer is 18.

a) Explain the mistake that Eva has
made.

b) What is the correct answer?

c) Add brackets to the calculation to
make the answer 18

3+6X2

2. Work out the calculations.

a)lI0+5+2
b)8+10 + 2

c) 5+ (10 + 2)
d)20+6x 11 -1
e) 32 + 42 + (10 - 5)
40 +8+2x6
g)-15+4x12+3
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Order of operations

3. Fill in the missing numbers.

a)8+| [x3=20

b)36=9x (25 |)

c)-10=20-| |x6

d)8s=( D?+10x2

e)(| [x2)2-10x2=16

4. Which number sentence will give

the same answer as the function

machine?

24 =~ 06

+5

242 (6+5) %2

(24+6)+(5 x 2)

(2426 15)% 2

24 + (6 +5x2)
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Order of operations

1. Eva works out 3 + 6 X 2 and says the
answer is 18.

a) Explain the mistake that Eva has
made.

She did the addition first when she
should have done the multiplication first.

b) What is the correct answer? 15

c) Add brackets to the calculation to
make the answer 18

(3+6)x2

2. Work out the calculations.

a)10+5+2=4
b)8+10 +2=13
c)5+ (10 +2)=10
d)20+6x11-1=75
e)32+42+(10-5)=7
fl40+8+2x6=17
g)-15+4x12+3=1
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Order of operations

3. Fill in the missing numbers.

a)8+4 x3=20
b)36=9x%x (23-4)
c)-10=20- 5 x6
d)84=(8)2+10x2

e) (3 x2)2-10x2=16

4. Which number sentence will give

the same answer as the function

machine?

24 -6

+5

24+ (6+5) % 2

(24+6)+(5 x 2)

24 + (6 +5x2)

(24\+}674x2
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